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MO00 (2600000000000 (700000000y@#)000000000
z(0+)0 00000

Y(s) = CX(s) = C(sI — A)"'BU(s) (2.12)
00000000000 G(s)000000000000000000000

G(s)=C(sI — A)~'B (2.13)

225 0O0OO0OOOO

oooboobooooobobobooobobooooooobobooooooooobooo
gboooooobooooooooboooooooobooooboooon

any(n) + an_1y("_1) 4t aly(l) +agy =
by t™ + b ™Y 4 b 4 bou (2.14)

oooD y™, «™ 00000000 -,00000000000



22 0000000 O0O0OOO 15

226 U0O0OOOOOOOOO

goooboobooooboooobobooTobobooooooboobooooooboooog
goboooboboobobobooboboobooooboobboobobobobobbobbon
oobooooobgon

000000 to,0O0OO0OO (28)00

(1) = Bt — to)alte) + /t B(t — 1) Bu(r)dr (2.15)

to

0000000000000000000000000000000000000000
TOOO to=kT, t=(k+1)T0000

ﬂ®+1ﬂﬂ:@Gﬁﬂf}+érﬂﬂéuk+DT—ﬂBMﬂm- (2.16)
MOO00000 w(r) 00000 KT <7< (k+1)TO00000u(r)=wkT)O0O000O

[(k + )T] = &(T)z(kT) + G(T)u(kT) (2.17)
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1 ({0810 — | — | — 1.0 1
2116|1819 | — | — 1.9 2
3 136|26| 27|33 — 3.6 0
4 140|146 |3.5| 4.1 42 4.6 1
5148 50| 55|49 50| 5.0 5.5 2
054:000000000D00O0O00O000
51 f2(s81 — 1) + g1 (z1) fi(s1) | 7

0 1 2 3 4 )
5 155(61(59]|49]|46 |40 6.1 1

goobobooooboooobuooboboobboobon
O0 so==5—27=40000000530025=10000 s3g=s,—23=3000
o0b0s200 z5=30000000000000

ob1o1goob2010000b 3030000b0oge,10000

goooobbogoogod

gboooobobobobbobbooboboobooboboboobooboboobooobbg
goooooboboobooooobooboooooobooboooooboobooboboooboao
goobobbobooboboboboboobobobobooboboooboobgon
gooobooooonod

ooboobogobooboo3oboooobbooboobooooobooobooboboDboon
oboobOobobooooboooooooooobooossobboobobonooooonoon
gbobooooooooooobobooboooowobbbobobobooobooog
goooooooo

o0o0ok0ODO0O000 00000y, 000000 p, 000000 ,0DO000O000
00000000000 H(=300000000000000000000000000
000000000 fe(sk,)D KOO ODOOOOOOOOOOOOOUOOUOOOOOOOOO
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gss: 000000000000

0@G) | 00000100() | 00000100(@p)
1 162 160
2 160 165
3 165 185

fr(sk) = gaﬁ[fkﬂ(sk —zk + yr) + (PeTrk — CRYk)]
k=1,2,3,000 00<zp <8, 0<yp < H— (s, — Tp)

00000000000 k=30000000 f3(s3) 0000000000000 0OO0O
oobooboboobDs,=000000000000000000DO0O000O0O0COOO0O0

ooooood
x3 =83, y3 =0

oooad

f3(s3) = p3s3 = 185s3 (5.8)

00000000 k=200 0 fo(se)00000000000C0O0OOOOOOOOOOO
UO0O0sz=s—22+y 000000000000 OCOOOOOO

fa(s2) = max[fz(s2 — z2 +y2) + (P272 — c2y2)] (5.9)

T2, Y2

= max[ps(s2 — T2 + y2) + (P222 — c2y2)]
]

2, Y2

= ;Izl,ay)g[(p2 —p3)T2 + (P3 — C2)Y2 + P32
0< s <89, 0<ys < H— (59— 12)
ggo
Py —ps =165 — 185 = —20 < 0

ps— s = 185 — 160 = 25 > 0

00000 f»(s;) JOOODOODD 200000y 000000000O00O0OOOOO
goooo

T2 =0,y =H -5y +22 =H — 59
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f2(s2) = (p3 —c2)(H — s2) +p3se (5.10)
= (382 + (p3 - CQ)H = 160s, + 25H

gooooo
00000000 k=1000 fi(sy) 000000000000 0OO0OOOOOOOO
oo

fi(s1) = max[fa(s1 —z1 +y1) + (P21 — 1)) (5.11)

1, Y1

= max|ea(s1 — 21 +y1) + (p3 — c2) H + (p121 — c1y1)]

1, Y1

= wnll,ayf[(Pl —c2)xy + (2 — )y + (p3 — c2) H + c51]
0<z <51, 0<y <H— (51 —11)
ao
p1—ce =160 —160=0
ca—c; =160—-162=-2<0

ooOooo f41(s) 00000000 o 0000000000y, ODODOUOOOOODOOO
ooooo

2 00 0< sy, y1 =0
0000

fi(s1) = (p3 — c2)H + c251 = 25H + 160s; (5.12)
00000000000

H =300, s; = 100

oooooobOO0 00Dbo0ob0D k=100000000000000000000
k=1-300000000000000000

f1(81) = 25H + 160s; = 25 x 300 + 160 x 100 = 23, 500
g 00 0<100, y3 =0
So =81 —x1 +y; =s1 —x1 =100 —

fo(s2) = 160s2 + 25H = 23,500 — 160z
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gs6: 0000000

0O |000s, | 0002 | 000
1 100 | z1(< 100) 0
2 | 100 — 0 200 +
3 300 300 0

23 =0, y2 = H — 50 =200+ 21
53 =83 — w2 +y2 = H =300
f3(s3) = 18553 = 55,500

25 =300, y5 = 0

gbobooooaooo osedooooooon 2350000000

goboooboobooon

doobooboboooooooboobooooooooooooooobooboooon
ooooboooogoobgo

00 A00Q00OO0 NOOOOOOOOOOOOOooooooooooooogoooooo
0000000000000000000000000000000000p0 (0<p<1)
goobooogo

oooo0NODOODOOODOoObOOoobobbooooobo1obooNDDODOoOo
gooooO NOOOOOOOOoDOODOOoOoOODODObOOoOoDOOODbDOOOoOobDDbobOOooo
oogd

e 000D ODODODOOODZ,. k=1,2,---,N
e K10ODOODDOODD000000O0000O s, k=1,2,---,N

oboobooooobooooobooo

fe(sk) = OSI;IB%CSk[ka(Sk — o) + g(wk)] (5.13)

k=1,2,---,N

000 Dg(z,) =23, 0<p<1, sy =A0
0000000000000 0000000k=NO0OOODOOO0O0O0O0E=1000
goooooooooo
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OOo000000k=NODOOOOODOOOODODOODOODOOOOOODOOOOO0
O000000fN(sy) 0000000000

In(sw) = | max [glen)] (514

P11 _ P
o205, ] = o
IN = SN (515)

ooo0oooobf0 k=N-1000000DOCOOOODOODODOOO

fn—i(sny—1) = max [fv(sn—1 —2zn-1) + g(zn—1)] (5.16)
0<zny-1<sN-1
T g [ e

00000000 y=(s—a)P+2? 0000 yOODOOODOOO

Y =—-p(s—z)P L+prr ' 00 ¢y =00000 z=(1/2)s0 O

y' =pp-1)((s—2)P2+2/2)0 0<p< 1000000 ¢y <000000000D0O
0oooo0o0

gooo
1
IN—1 = 531\[71 (517)
1
fn—i(sn—1) = 2(§3N71)p (5.18)

OO0000oo00ob0k=N-2000000000000D0O0ODOODOOO

In_a(sn—2) = OSINH_IS%(sN_z[fN_l(SN_2 —rN_2) + g(rN_2)] (5.19)
1

= OSINH;IS%(SN_Q[Q(i(SN_Q - Q,'N_Q))p + $%72]

gooboobooboobbooboboooboobooboooboooobooooooboo

1
IN—1 = gSN_Q (5.20)

fN_xSN;g)ZZK%SN_ﬁp (5.21)

oo0oo0oooo oodob0dd0k=N—-0000O0DODOOOO0OOOOOOOO
obooooogo

1
- . 5.22
i1y (5.22)

TN—i

In_ilsn—i) = (i + 1)(%81\#&’9 (5.23)
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0570000
O« | 0000 p |OD00OO ¢
1 160 162
2 165 160
3 185 165

0000000 k=1000000000000

1 1
o1 =51 =4 (5.24)
1
fils1) = N(Né‘l)pa s1=A (5.25)

00000000 k=100 k=NODOODDODOOOODODODOO

1
x1:x2:...:mN:NA (5.26)

gbboooooooobobobboboboobbobboboooooooboo fl(A):N(%A)p
gooo

(moodg

5.1 OOOOg3obobobobobbooobobobOooooooboboboooOoooo
O0000O00o0ooooooooosoooooooobooooob00oooooo 1000
googo3bdgoooobooobooooobooooooboooooooboboobooobooDbo
goboooobobbobooooooooboong
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gobodoooboooobooooboboboboooboobooooboobbooooooo
boooboboboobOooooooobooooooboooooboooOobooboooooooo
gobooboooooooboooooobooobooog

goad

000 (gradient method) 0 0000000000000 0000000000000
00000000000000000000000000000000000000000
00000000000000000000000000000000000000000
00000000000000000000000000000000000000000
0000000000000000«2(#)00000000 f(z)0000000 o = z(t)
0000 f(z)000000000000000000000000000O00O00000
000000000 f(»0+:000000000000000000000000000

gooobooboooboooboobobooboooobbooog
dz(t)
— = 6.1
0 _ ) (61)

0000000000000 -Vf(z)DVOnablaDOOOODOOOODOOOOOOO

Vi@ = gradf(a) (6.2)
= [, ., AT (6.3)
z € R" (6.4)

0000000000 00oo0oOoOoOoU0OUOo (6.1)D0ODOOOOOD
x(t+At)  =ux(t) + Ax(At)

=z(t) + At - Vf(z) (6.5)

0000¢=t00000000000000¢)00000000At00000000O

000000000000 ooooooooo0o0o0oo0ooooooAtD0oOoogon

goooooobooooooooooobboioooon oo ooouobono

gooboooobobobbobboboboboooboboooog
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06100000

6.1.1 00000

00000 (optimal gradient method) O O O O O OO steepest descent methodO 0 O
O000f(z(t+At)D00000000 2z(t)0 Vf(z¢)DDOODDOOODDOOODOO
ooo

max f(z(t + At)) = max[f(z(t) + At - V f(z(?)))] (6.6)

MO0A:0O0O0O (65000 =2(¢t+A)0000000O0C0OOUOOOOOOOOOO
00000Vf(x)D0000000000000000000O00O0O0000 z()0O0OO
00610000000 2000000Vf(z)0OODO0O0ODOUOOOOOOOO f(z)0O0
gobooooboooobooooobobooooobobbobooo0ooooobogo
gbooobooooooobooboooooooboooobobon

A0 00000000000 0D000 At=T1,27,---, MIODOTOOOOOOOODOOO
0000 f(z(t+A)) 00000000000 O0OOOO0AtD0O0OOOOOOOOOO
gobooooboobobbboooboboboooboooooooboobooobobDbOobOoo
goboooboooooobooboobooooonog

6.1.2 00000

M 0000 (conjugate gradient method) D 00000000000 OOOOOOOO
0000000000000 000000D000000DO0O000000000000O0O
000000000 00000000C0O000000A0 Fletcher-ReevesOOOOOOOO
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goooooogo
gbobooboobooogobboobooboobooooobooobbon
1) 00000020000

po = Vf(zo) (6.7)

0000000000000 0000=Vf(xe)DOOO f(zo+At-po)0 00000 ALO
oooooOoooAtOooo

ry = Xo + Ato - Po (68)

gooobooboobogooboobooooooo

2)000
p1 =V f(z1)+Bi-po (6.9)
Vf(z1)]?
612% (6.10)
IV f(z0)]
000 f(zr+At-py) MOODODODODAtDOODODOAL OODOO
Ty = o1 + Aty " P1 (611)
ooooooo
j)000i000oooooond=1,2,---
pi = Vf(:vl) + Bi - pi_1 (6.12)
2
ﬁi:M (6.13)
IV f(zi-1)]
000 f(z; +Atp;,) 0000000 A:tO0D0OOOAODOOO
Tit1 = X; + At; - p; (614)

ooooooo
goboobooboobobe2000000O00OD0ODOOOOOOOOOOODOODOO
00000000 k00000Qg v,i=1,---,k000000000 Qe R 0O0
O00v/Qu;=0,i#j;000000000000000000Q=000000000
goooooboooooooboobooooooboboooooooboooooan
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c ooooooo
-~ pooooo

ooo \
ooooooo

goooooo

06200000

6.1.3 000000

00 f(x) 000 ¢, 000000000000000DO00O0OODOOOOOOOOOOO
goboobooooooboooooooo

fl@) = flan) + V(or)(z —zr) + %(w — )"V f(zr) (@ — a) (6.15)

gbobooooogooboobooooooobooboobbobobboboboon
O0000000000000D0HessianOOOOODOODOOOOOO0ODOOOODDO
gboooooobooooon

gobooon

gooooboobooooooooooboooobooobooooboobooboboooboo
goboobobOoooboboobooooooooooobooboboooooooooooonoag

6.2.1 0U0O0OOOOOOODOO

00000000000 (NN))OOOUOOoOoOoooooooooooooooooo
gooooboboobooboooooooooboooNNOOOODOOooooobooo
gbooooooooo
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v; ()

a) 00 by 000D

oe63:00000000D00O00O000DOO

0632)00000»0000000000000O0ONNOOUOOOOOOCOOOOO
goooooboooooooooooobbooooobooooooooooog gg
ooooo«.000000000000w;; 00000 wj =w;; OOO0O0OO0O0OCOOO
00000000000 ooO0oo0o0o0oooooo0ooooooOotobooOo.«.0o0n
00000 w(¢#)0OO0O0O0000 ¢, 0000000 w((#x)000006.3b)00000O0O
godooooooboooa
ui(t):Zwijvj(t)-i—ﬁi (6.16)
J#i
Joooooooooooooooboooobo oboooo
E(t):—%ZZwijvi(t)vj(t)—Zﬂivi(t) (6.17)
i j#i i
pgoobouooobobdouoboooobuooo0obDdooo0ooL oL OooOoo o
goobboboooooooooooon

e JU0O0ODOO0OO0OO0OOODLOOOOODOOOOOOODOOOOOIOOOODOOOO

e JI00O0O0ODOOODOOOOOODDODDOOODOODOOO:0D0O0O00OO0O0OOD0
00000000 w(n)OoOoooo

e 0000D00w(t) 000000000040 ¢t+1 000000 v(t+1)0000
00oooooo

Ui(t) Z 0 MO D’Ui(t-Fl)Zl
< 00 Ow(t+1)=0 (6.18)
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e JODODODODODD.IDbODbUUOUOUUODOUODLDOODbDODOO
Uj(t+1):1}j(t))j:1)27"')N;j7éi (6.19)

e JI0O0O0ODOOOOODOOOOLOOLDOODOODOOODODODOOOOOO

gboobooboobooooobooboboboooooooooboooboo
v;(t+1)0000000000000000000O00OOUDOOOOO

E(t+1) —E(t) = —(Ui(t-F 1) —vi)(Zwijvj(t) +92)
i#j
= —(’Ui(t + ]_) — vi(t))ui(t) (620)

0(6.18)0 000000000000

wi(t) > 0 MO Oui(t+1)—w(t) >0
< DO Ou(t+1)—wvi(t) <0 (6.21)

0000000620000000 E(t+1)—E(#)<00000
E(t+1) < E(t) (6.22)

gogooooooboooobobboboobobobobboobobobbboobog
goo
gbooooobooobboboboobbooooobobbobooboobobog
obdy,00000000000000000000000000O000O0000000
ocobooooooobooooO0oO0OoOoOoOoObObOoO0O0bO0O000w;000006,00
ooooboboboboooooobooooooooooooboooboooooooao
00o0o00o0ooU0oOoooOo0oOo0Oo0oOoUOOoUoOoooOeoDoooOO
gbooobooobooobooooobooboobooboooooboooooooon
goboboboooooboboobobboboobooboobobooobobooooo
googoo
gbobooooboooboobon
gbboOoooobOoodobobonnbOO0oobObOoboooboboboooobooooo
gboboboobboobobbobboboobobobooboobooobooobon
0000000000000000000R000000000064000000 n?
goooboboooooboooboboobooobbooooobobobobobooo
gboboobooooobboooooooboboboooobooooooboobooooonoon
gobooooobobobobobogn
oboboooboobooobooobooooooooooboooboooo
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— QOga
1 2 i
1 O .... Oooo
2 , Qooo O"’

OO
§Q
(O O O @
O =

000 e—

OO @
oo

U 64:00000000D0OO0

E= _% Z Z Z Z We,i,y,jVa,iVy,j — Z Z 0z2,iVz,i (6.23)

v yte i i
000#y00000i,;00000000000000000000000 w,,y,; 00
000 (z,i) 0 (y,j) 00000006, 00000 (2,i)00000000000000
00000000z0,0000000d,, 0000000000000 E00000
000O000000000000000000000000000

E, = % SN e yvai(vyisn +vyi1) (6.24)

gboooobooooobobobooooboobooooooooobboooooono

goobobooooboobboboobobooooooobobbooobobboooobobo
oood

1
00 DDDDDDDDDD§ZZZUNUM (6.25)
T i jAi
1
IZIIZIIZIDDDDDDDDDDDEZZZv”vw (6.26)
1 2
DDDDDDDDDnD?Z;XMM—n) (6.27)

goooooooobooboobobboboooobo0obo0ooooooooooo
gboooOoooobObObO0o0o000ooooooobooooboo0ooooboooogonn
0000000000000 A, B,CO0000O0OOODOOOODODOOOOOOODBDOO
Oo000DO0O0ODpDOOOO0ODOO00DOO0O0ODOOO0ODbO0Oe62300 00000000
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—Oooogo

od

O 6500000000

oooo0oO0000w,., 00000 IDDDDDva,*:v*7*DDDDDDDDDDDDDD
gboooooooooboobooooooan

We,iy,j = —A(Sw,y(l - (Si,j) (628)
—B6; ;(1 —04.4)
—-C

—Ddyy (041 + 5i-1)(1 — 0z.4)
boi = Cn (6.29)

0006, 0000000000 oooooooooooooo
gdoobooooboboooobobooooobbooooooboooboboooobog
gobooooooooobooooboboesbooboobobobOOobOoOObbOO
goboooooooboobobobobOoooooooboobooOoobboooooooooooboon
oooooooobogooboooobooooboooobobobooobobooooooobooobooo
gooooooobooboooooboobooboooobooboboooobooooonoo

6.2.2 0UU00OOUOOOOO

000000000000 Genetic Algorithms0 OO O0O00O0O0OODOOOOOOO
gooooooooboboobooooooooboobbooobooboooobooboogoo
gbOooooboooobooboooocoooboooobooboboobOooboooooooon

uobooobooooboobooooboooOobooooooboooboboboOoOobOboDbn
gooobooooboboooooboooooooooobooobobooobooboboog
gobooooboboobbooooooobooobooboboooboooobooboboooboon
gobooboooobooboobobooboboobooooooobboOoogb et bOOO
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gobooooooboobooobooo

goobooooboooboooobobooooooboobboooboooooo
goobooooboooooooobooooooooboooooobobooooboo
gbooobooooooboobooboooobooooobobooobooooboooboooo
gobooooooooobobooboooooobooo

gobobbOooooooooboobooboboobobooobooboboooooo

gbooboobobooboooogooooboooobboboooboo

oobooobooooooboooogong

e 0D OO0ODODOO0ODLOODLOOOODOOODODOOOODLODLDDLOOODDOO
ugod

gobooboobooboboooobooooboooobobboboooobobobon
oboobobobooooooobobooooboooobooboboooooboo
gooogo
gbboooobbOoboodobooooooooboobooooooooooooooooo
gooooooboooobobbooooooboobooooobooobbooboooooboon
ooboooooooobooobooboboboboooooobooboonoooooag
ooooooooobooboobooooboooboboooobooooboboobooooo
gooboooobooboobobooobobooooboooooooboooboooooan
gboooooooooobobooboooboooooboooooooooooooboo
0000000000000 000000o0UOooO0oOoOoO0 gooooooooo
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0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000000000000000000000 [8][9] [30]0

gobooon

ooooooooboooooboobooooooboboooooboobobboobaon
gboooboooooboooboooooboboooboooobbobOoooOooboOoDbo
gooboooooobooboobooboobooboooboobOoooooobooboooobooon
goooooooobooogoooooboobooboooooooooooboooooooog
00000000000 0UOoooOooooooooog (3], 9o

6.3.1 U00O0OOOOOOO

Oo0oooooooOo0o0Dxe R nO0O0O0O0OODOOOOODOOODODOODOO
goboogoooooo

m)én f(x) (6.30)
subj. to x € X = {x|g(x) < 0} (6.31)

000 f(x) = [fi(x), -, fp(¥)], 8(x) =[9:1(x),--,9m(x)] 00 D000 £(x) 00000
000000000000000g(x) 0000000000000 O 0000000
000000000000000000000000000000000000000
000000000000000000000000000000
000000000000000000000
00000000000000 x4, x200000

*Fx) <f(x?)0O00O0x'0 x*000000000

fx)<f(x)0000x0 x200000000000000

000 <000000 <0000000000000000000000 <0000
00000000000000

a<b&a; < (Vizl,---,p)DD a; < b; (E‘i:l,---,p)

ooooooooog
ooooooOx*000000D0O0000obooOoO0ooooooDboooon
a.x*0000000000 xeXODOOOOOOOOx*O0ODOOOODOOODOOO
b.x*00000 xeXOOOODOOODx*OOOOOOOOOODOOOO
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oogod
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goooooo

f,00

0670000000

c. x*0000 xeXODOOOOOODODODx*ODOOOOODOODOOO

O goooogo
oooooooboooooooooOoDbOOoO0OOooOooooOooOooe7T00OOOOOO
goooobooboooooboooboooooooboboooooooobobobooboooobooo
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6.3.2 U00OOOOOO0OODOODO

gboboobooobooboooboobooobooooobooooboboooobobono
goobooboooooobobobooooooboboobbobooboooooobobooooboDboo
gbooooooooobobobboouoboooobooooooooooobaooan
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gobooboboobooooboo
gobooobooooobooboobooooooboooooooboobboooooooo
goobobooboooooobooboooooo

m)én Z wi fi(x) (6.32)
i=1

000000000000 w,; >0,i=1,---,p00000000000000 YF ,w; =1
ooooooo

000000000 000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0oooooooQ
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gboooboboooboboooooobobooobobbbobOoooobeononoDn O
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1£(x) — E(x)lla = {Z|fi(x) — filx)|7}/ (6.33)

gUO0bO0ODbO0O000obOObO0obo0obOOobOobOo00bdge=200000000000
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6.4.1 DUOO0OOOOOO

gbobOoboooooboooobooobooobobooooooooboobooooboobo
oobooboooboobooboooodOmmbOobbOOoOooooobOoobDoboo

00000 f(z1,-+,2,)000 (0000D0)000 (6.34)
00000g¢gi(z1, -,zn)=0,i=1,---,m (6.35)

oooooooooooboog Ay e=1,---,mO000D0000O00O0OOOCOOODOO
ooooboobooooobo

fler, -+, zn) + Y Nigi(r,-++,2,) 000 (00000)0000 (6.36)
i=1

ooooooopoOoooopoDoo fO0O

of .
r =0,i=1,---,n (6.37)
of . .
n =0,2=1,---,m (6.38)

O0000C00000ADOOOOOw,i=1,---,n00000000000000 6.380
0000000 gi(z,---,2,)=0,i=1,---,m000000000000000O00O0
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